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Note : This paper is of Eighty (80) marks divided into three
(03) sections A, B and C. Attempt the questions
contained in these sections according to the detailed
instructions given therein.

SECTION–A/

(Long Answer Type Questions)/

Note : Section 'A' contains four (04) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2×19=38)
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1. Explain the concept of indifference curve. On what

assumptions does it depend ? Explain with conditions how

consumer's equilibrium is achieved through indifference

curve. Draw suitable diagrams.

2. Explain clearly the equilibrium conditions under monopoly.

Show the price determination of a monopoly firm is the short

run and long run.

3. Critically examine the marginal productivity theory of

distribution. Also explain Euler theorem.
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4. Explain Marshall and Pigou views regarding welfare

economics.

SECTION–B/

(Short Answer Type Questions)/

Note : Section 'B' contains eight (08) short answer type

questions of eight (08) marks each. Learners are required

to answer any four (04) questions only. (4×8=32)

1. Deductive and inductive methods of economic study.

2. Degree of price elasticity of demand.
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3. Normal, inferior and Giffen goods.

4. Determining elements of returns to scale.

5. Explicit cost, implicit cost, Real cost and opportunity cost.

6. Theory of excess capacity.

7. Price Rigidity.

8. Uncertainty bearing theory of profit.
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SECTION–C/

(Objective Type Questions)/

Note : Section 'C' contains ten (10) objective type questions

of one (01) mark each. All the questions of this section

are compulsory. (10×1=10)

Choose the best answer.

1. The limit of the elasticity of demand is :

(a) 1 to � (b) 0 to �

(c) –� to +� (d) None of the above

1 to � 0 to �

–� to +� None of the above
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2. If a consumer consumes three goods, X, Y and Z, then his

equilibrium state is

(a)
px py py
py pz px

� �

(b) px = py = pz

(c) MUX = MUY = MUZ

(d)
zx y

px py pz

MUMU MU� �

X, Y  Z

px py py
py pz px

� �

px = py = pz

MUX = MUY = MUZ

zx y
px py pz

MUMU MU� �

MAEC-101 [ 6 ]



7S-120-MAEC-101 P.T.O.

3. Income effect is

(a) Always negative

(b) Always positive

(c) Always zero

(d) Can be negative or positive

4. Cobb Douglas production function is :

(a) Q = KL�Cl–� (b) Q = KL–1–x�C�

(c) Q = KLC�–1 (d) Q = KLa–1C�

Q = KL�Cl–� Q = KL–1–x�C�

Q = KLC�–1 Q = KLa–1C�
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5. When total productivity falls, variable factor labour's :

(a) AP is zero (b) MP is zero

(c) AP is negative (d) MP is negative

AP MP 

AP MP 

6. Expansion path in production theory is similar to :

(a) Engel curve

(b) Price consumption curve

(c) Income consumption curve

(d) Budget constraint

(expansion path)
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7. Which one of the following is false ?

(a)
q

TC
MC

��
�

(b)
q

T V C
MC

��
�

(c) MCn = TCn – TCn–1

(d)
q

T F C
MC

��
�

q
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��
�

q
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MC
��
�

MCn = TCn – TCn–1
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T F C
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��
�
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8. Time element plays a significant role in the price

determination, thie statement was presented by :

(a) Adam smith (b) Recardo

(c) Marshall (d) Walras

9. Value judgement in Pareto's analysis is :

(a) Present (b) Absent

(c) Secondary (d) All are incorrect
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10. Social welfare function is related to which economist ?

(a) Kaldor (b) Scitovsky

(c) Tintner (d) Hicks
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